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QUESTION 1

Which two types of IP addresses does Oracle Clusterware 12¢ acquire from DHCP when it started up on a cluster node
using Grid Naming Service (GNS)? (Choose two.)

A. Single Client Access Name (SCAN) virtual IP addresses (VIPs)

B. Grid Naming Service (GNS) VIPs

C. ASM Listener VIPs

D. High Available IP (HAIP) addresses uses for the cluster interconnect
E. Intelligent Platform Management Interface (IPMI) IP addresses
Correct Answer: DE

Section: (none)

QUESTION 2
Which two statements are true about Oracle Clustered ASM performance? (Choose two.)

A. Data files, redo logs, and RMAN backup pieces must be stored in different ASM disk groups for optimal
performance.

B. All ASM Disks belonging to a disk group should have the same hardware specifications and storage attributes for
optimal performance.

C. To improve performance a database must have two disk groups; one for data and one for the fast recovery area.
D. Hardware-based mirroring combined with ASM mirroring guarantees optimal performance.

E. All ASM Disks belonging to a disk group should be of the same size for optimal performance.

Correct Answer: AE

Section: (none)

QUESTION 3

Which two actions can restrict the number of instances used for parallel execution of a SQL statement? (Choose two.)
A. setting the PARALLEL_DEGREE_POLICY to LIMITED

B. setting the PARALLEL_FORGE_LOCAL to TRUE

C. setting the PARALLEL_SERVERS_TARGET value equal to that of PARALLEL_MAX_SERVERS

D. using a database service to limit the number of instances that participate in parallel execution
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E. creating a UNIFORM service for a policy-managed RAC database
Correct Answer: AD
Section: (none)

Reference: https://docs.oracle.com/cd/E11882_01/server.112/e25523/parallel002.htm

QUESTION 4

Which two tasks must be performed before launching the Oracle universal installer to install Oracle Database Software
for RAC? (Choose two.)

A. SSH user equivalence for the Oracle software owner must be configured on all cluster nodes.
B. Grid Infrastructure must be installed on all cluster nodes where the Database software will be installed.

C. SSH user equivalence for the Oracle software owner must be configured on all cluster nodes where the Database
Software will be installed.

D. Grid infrastructure must be installed on all cluster nodes.

E. The Clusterware stack must be up on all cluster nodes where the Database software will be installed.
F. The Clusterware stack must be up on all cluster nodes.

Correct Answer: AD

Section: (none)

QUESTION 5

Examine these commands:

$ srvctl add service ?b racdb ?ervice erp ?erverpool srvpooll

- failovertype TRANSACTION ?ommit_outcome TRUE ?replay_init_time 1800
- retention 86400 ?otification TRUE ?lbgoal SERVICE_TIME ?lbgoal SHORT
- failoverretry 30 ?failoverdelay 10 $ srvctl start service ?db racdb ?service erp

Instances RACDB_1 and RACDB_2 run on host01 and host02, respectively. Which three statements are true regarding
the service erp?

A. Connections to the database using erp benefit from Application Continuity.
B. erp is configured for an administrator-managed RAC database.
C. Load Balancing Advisory (LBA) will be disabled for this service.

D. Connections to the database using erp benefit from Load Balancing.
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E. Connections to the database using erp benefit from Transaction Guard.

Correct Answer: ADE

Section: (none)

A: To enable Application Continuity for Java, set the failovertype parameter to TRANSACTION.
D: -clbgoal {SHORT | LONG}

Connection Load Balancing Goal. Use a value of SHORT for this parameter for run-time load balancing, or if using an
integrated connection pool.

E: Enable Transaction Guard through the -commit_outcome parameter. When it is set to TRUE, the commit outcome for
a transaction is accessible after the transaction\\'s session fails due to a recoverable outage.

Incorrect Answers:

C: Load Balancing Advisory (LBA) is set through ?Ibgoal parameter. Set this parameter to SERVICE_TIME to balance
connections by response time

References: https://docs.oracle.com/database/121/RACAD/srvctladmin.htm#RACAD5050
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